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Question Number : 1 Question Id : 953357456609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Humans are able to learn and remember new things in motor and cognitive

domains throughout their life span.

Reason (R) : Outcome of a severely deprived childhood can be easily changed in later years.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 953357456609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357456610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which principle of development does the following example illustrate-

The development of a child does not take a straight path, it turns back and then moves forward
again.

Options :

1. Principle of uniformity

2. Principle of spiral advancement

3. Development is uni-directional

4. Development is discontinous.

Question Number : 2 Question Id : 953357456610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357456611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Many parents demanded a ban on the popular cartoon show Shinchan as their children were

imitating the central character's 'unruly' behaviour. This illustrates is/are an

important agency of socialization.
Options :

1. Media

2. Peers

3. Neighbourhood

4. Religion

Question Number : 3 Question Id : 953357456611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357456612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement about progressive education is correct?

Options :

1. It involves lecture method and grouping according to the ability/marks of the students.

2. It involves individualized learning, tests at the end of the year and ranking of students based on

marks.
3. It involves experimental learning and asessment through a variety of methods.

4. It involves programmed instruction and use of rewards to encourage learning.

Question Number : 4 Question Id : 953357456612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357456613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jean Piaget proposed the following of sequence of developmental stages:
Options :

1. Pre-operational, sensory-motor, concrete operational, formal operational.
2. Sensory-motor, Pre-operational, concrete operational, formal-operational.
3. Sensory-motor, Pre-operational, formal-operational, concrete operational.

4. Concrete operational, Formal operational, sensory-motor, pre-operational.

Question Number : 5 Question Id : 953357456613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357456614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, which of the following questions will be answered only by the children in

formal operational stage?



Options :
1. Ronak ate 11 chocolates. His sister ate twice as many. How many chocolates they both ate in

total?
2.If Ais greater than B and B is greater than C. What is the relation between A and C?
3. How many whole numbers are there between 67 and 81?

4.7+9=?

Question Number : 6 Question Id : 953357456614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357456615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, which of the following factors influence learning?
(i) social interaction

(ii) cultural tools



(iii) language

(iv) negative reinforcement
Options :

1. (iv)

2. (i)

3. (i) (i) (iii)

4. (i) (iii) (iv)

Question Number : 7 Question Id : 953357456615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357456616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Lev Vygotsky, when teachers make adjustment in the support extended to the child

according to the child's current level of performance, it is referred to as-
Options :

1. reinforcement

2. conditioning

3. modelling

4, scaffolding

Question Number : 8 Question Id : 953357456616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357456617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg the child's moral development in stage 3 - maintaining mutual

relation, the 'Golden Rule' refers to the stage where:-
Options :

1. the child wants to please and help others.



2. the child understands the social system is dependent on the performance of one's duties to

maintain social order.

3. right actions are defined according to the norms, needs and rights which are unaminously

accepted by society.

4. the child not only keep in mind the norms of the society but also the limits to which the

universal principles are applicable.

Question Number : 9 Question Id : 953357456617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357456618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardner proposed that-

Options :

1. intelligence is a practical goal oriented activity

2. intelligence comprises of seven intelligences in a hierarchical order

3. intelligence is a generic ability that he lablled as 'g'.



4. intelligence comprises of several kinds of human abilities.

Question Number : 10 Question Id : 953357456618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357456619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Several television commercials depict men and women in stereotypical roles. How should a

teacher discuss this issue in her classroom?

Options :

1. She should encourage students to accept statements made in television commercials at face
value.

2. She should encourage students to analyze it critically and arrive at a reasoned decision.

3. She should encourage students to reach conclusion on the basis of given facts in the

commercial.

4. She should encourage students to imitate the behaviour of men and women shown in the

commercials.



Question Number : 11 Question Id : 953357456619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357456620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of cognitive and language development, who said "Thought comes first than
language"?

Options :

1. Jean Piaget

2. Lev Vygostky

3. B.F. Skinner

4. Jerome Bruner

Question Number : 12 Question Id : 953357456620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357456621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding proposals made by National Education Policy 2020

(NEP) is not correct?

Options :

1. NEP 2020 proposes that a variety of methods and strategies such as group work and role plays
be used for assessment.

2. NEP 2020 proposes shift from formative to summative assessment.

3. NEP 2020 proposes that apart from assessment by the teacher other ways such as self -

assesment and peer assessment should be encouraged.

4. NEP 2020 proposes that report card of the student should include progress in the cognitive,

affective and psychomotor domains.

Question Number : 13 Question Id : 953357456621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357456622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Should terms take 'slow learner' 'brilliant' and 'average' be used to describe students in a

classroom?

Options :

1. Yes, it helps students understand the level of their performance.

2. No, these terms label children based on ability and are non-inclusive.
3. Yes, it can help a teacher categorize children in his clasroom.

4. No, these categories are not sufficient, we need to add many more to understand student

profiles.

Question Number : 14 Question Id : 953357456622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357456623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which kind of diversities should a teacher respect and include in her classroom?
Options :

1. Regional

2. Socio-cultural

3. Economic

4. Linguistic

Question Number : 15 Question Id : 953357456623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357456624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Murti, a grade 4 student, is able to read only at the level of a grade 1 student. He also has difficulty

matching sounds, spelling words and reading letters. Murti shows characteristics of-
Options :

1. Dyspraxia

2. Dyscalculia

3. Dyslexia

4. Dysgraphia

Question Number : 16 Question Id : 953357456624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357456625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher can identify creative children in her class by-
Options :

1. their ability to think convergently

2. their popularity among peers

3. their innovative style of thinking

4. their selection of simple and recall based tasks.

Question Number : 17 Question Id : 953357456625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357456626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the following behaviours primary characteristics of-



Impulsivity, low attention span, fidgeting, inability to sit for long?
Options:

1. Autism

2. Giftedness

3. Attention Deficit Hyperactivity Disorder

4. Creativity

Question Number : 18 Question Id : 953357456626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357456627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies does not promote inclusion?
Options:

1. Flexible grouping

2. Differentiated Instruction

3. Ability grouping



4. Reasonable curricular accomodation

Question Number : 19 Question Id : 953357456627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357456628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of child with giftedness?
Options:

1. High level of commitment

2. Prefers working independently on tasks

3. Ability to recognize multiple options while working on problems.

4. Eagerness to repeat the same task multiple times.

Question Number : 20 Question Id : 953357456628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357456629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should employ classroom management strategies which focus on:
Options:

1. controlling the class through rigid rules

2. expecting same behaviour from all children

3. making students abide to all rules without questioning

4. giving ample oppurtunities for self reflection

Question Number : 21 Question Id : 953357456629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357456630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the most effective strategy to encourage conceptual development in children?
Options :

1. Keep punishing students till they make the required changes.

2. Getting children to forget old concepts and learn new ones by rote memorization.

3. Give a variety of examples and non-examples and encourage students to use reasoning.

4. Rewarding students each time they make a conceptual change in their schema.

Question Number : 22 Question Id : 953357456630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357456631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching includes-

(i) Taking care of emotional needs of students.

(i) Adapting curriculum and assessments to the student's needs.
(iii) Flexible grouping for peer interaction.

(iv) Employing rigid classroom management strategies.

Options :

1. (1) (i) (iii) (iv)

2. (i) (ii) (iii)

3. (ii) (iii) (iv)

4. (i) (iii) (iv)

Question Number : 23 Question Id : 953357456631 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357456632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rekha provided a map of India with landforms and rivers to her students and encouraged them to
make initiative guesses about the location of major cities in it. Her approach to teaching-learning
is-

Options :

1. Rote memorisation

2. Discovery learning

3. Direct instruction

4. Expository teaching

Question Number : 24 Question Id : 953357456632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357456633 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Presentation of a concept and its sub concepts in a heirarchial and interconnected manner is

called-

Options :

1. Mnemonic

2. Heuristics

3. graphic organizer

4. Algorithms

Question Number : 25 Question Id : 953357456633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357456634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Several educational reports are revealing that students are underperforming than the expected

learning levels. The first unit of analysis to understand this gap should be:

Options :



1. System
2. Child
3. Community

4, Parent

Question Number : 26 Question Id : 953357456634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357456635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children's intrinsic motivation to learn is increased when -

Options :

1. learning is centred around rewards and punishment.

2. learning strategies focus on mere memorization and recall

3. their learning enviroment fosters their sense of belonging and agency.

4. the teachers encourage obedience and adopt standardized methods of assessment.



Question Number : 27 Question Id : 953357456635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357456636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which emotion would facilitate the process of meaningful learning?
Options:

1. Shame

2. Fear

3. Hopelessness

4. Curosity

Question Number : 28 Question Id : 953357456636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
I |1 HAT ST HE i TeaTed ST

Options :




Question Number : 29 Question Id : 953357456637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion: Teachers must encourage children to share the 'naive' or intuitive theories that they
construct.
Reason: All children start off with pre-conceptions of reality and these conceptions influence their

understanding in schools.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 29 Question Id : 953357456637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357456638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What tasks should be focussed upon in a socio-constructivist classroom?
Options:

1. Task that are challenging and allow critical thinking.

2. tasks that are repetitive and mechanical

3. tasks based on recalling the text

4. tasks that do not permit questioning by the child.

Question Number : 30 Question Id : 953357456638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science

Section Id : 95335714413
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 95335726201
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357456639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A)- Most of the rain in India is brought by monsoon winds.



Reason (R) - India is located in tropical region.

Options:

1. (A) is true, but (R) is false.

2. (A) is false, but (R) is true.

3. Both (A) and (R) are true and (R) is the correct explanation of (A)

4. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

Question Number : 31 Question Id : 953357456639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 32 Question Id : 953357456640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about meteoroids is correct?
Options :

1. These are small pieces of rocks, moving around the sun.

2. They are only found between the orbits of the Mars and Jupiter.



3. They have their own heat and light.

4. Their shape is described as a geoid.

Question Number : 32 Question Id : 953357456640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 953357456641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following oceans is connected with the Pacific Ocean by Berring Strait?
Options:

1. Indian Ocean

2. Atlantic Ocean

3. Arctic Ocean

4. Southern Ocean

Question Number : 33 Question Id : 953357456641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 953357456642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the vegetation by the features given below:
A) This vegetation can survive in saline water.
B) It is located in the Andaman and Nicobar Islands.

C) Sundari is a well known species of trees of this vegetation.
Options :

1. Tropical Rainforests

2. Tropical Deciduous forests

3. Mangrove forests

4. Coniferous forests

Question Number : 34 Question Id : 953357456642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357456643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statement A and B about 'climate' and choose the correct answer.

A) Climate is about the average weather condition which may have been measured over many

years.

B) Climate of a place is affected only by its distance from the sea and relief.
Options :

1. Ais true, B is false.

2. Ais false, B is true.

3. Both A and B are true.

4. Both A and B are false.



Question Number : 35 Question Id : 953357456643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 953357456644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Phenomenon like rainfall and fog occurs in which layer of the atmosphere?
Options :

1. Troposphere

2. Stratosphere

3. Exosphere

4. Thermosphere

Question Number : 36 Question Id : 953357456644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 953357456645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statement A, B, C on igneous rocks and choose the correct answer.
Statement(A):Sedimentary rocks, when subjected to heat and pressure turn into igneous rocks.
Statement(B):These rocks are found both on the earth's crust and deep inside the earth's crust.

Statement(C):Granite and Basalt are examples of igneous rocks.
Options:

1.B and C are correct and A is incorrect.

2. A, Band Call are correct.

3.Aand B are correct and Cis incorrect.

4. A and C are correct and B is incorrect.

Question Number : 37 Question Id : 953357456645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 953357456646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Ladakh is incorrect?

Options :

1. It is enclosed by Karakoram range in south and Zanskar mountains in north.
2. The Gangri glacier is found here.

3. As it lies in rain shadow of the Himalayas, there is little rainfall here.

4. Leh, the capital of Ladakh, is connected to Kashmir valley through Zoji la pass.

Question Number : 38 Question Id : 953357456646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 953357456647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Golden Quadrilateral Express way connects which of the following?
Options :

1. Delhi, Mumbai, Chennai, Kolkata

2. Delhi, Ahmedabad, Mumbai, Delhi

3. Ahmedabad, Pune, Mumbai, Delhi

4. Kolkata, Pune, Delhi, Chennai

Question Number : 39 Question Id : 953357456647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 953357456648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Waves are caused when:

Options :

1. Winds scrape across the ocean surface.

2. Sun and moon exert gravitational pull on the earth's surface.
3. Rise of temperature of water on the ocean's surface.

4. Meeting of warm and cold currents on the ocean's surface

Question Number : 40 Question Id : 953357456648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 41 Question Id : 953357456649 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements A and B about metallic minerals and choose the correct answer.

Statement A: All metallic minerals are non-ferrous.

Statement B: Mica is an example of metallic minerals.
Options:

1. Alis true, B is false.

2. Ais false, B is true.

3. Both A and B are true.

4. A and B are false.

Question Number : 41 Question Id : 953357456649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 953357456650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an agro-based industry?
Options :

1. Vegetable oil industry

2. Cotton textile industry

3. Fish oil manufacturing industry

4. Leather industry

Question Number : 42 Question Id : 953357456650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 953357456651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a conventional source of energy?
Options :

1. Nuclear energy



2. Tidal energy
3. Hydel power

4. Bio gas

Question Number : 43 Question Id : 953357456651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 953357456652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Petroleum and natural gas, that occur far below the earth's surface are extracted through:
Options :

1. Open-cast mining

2. Drilling

3. Quarrying

4. Shaft mining

Question Number : 44 Question Id : 953357456652 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 953357456653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Thousands of years back, people travelled the silk route on:
A) Foot

B) Horseback

C) Camels

D) Bullock carts
Options :
1.A,Band C
2.A,Band D
3.A,Cand D

4.B,Cand D



Question Number : 45 Question Id : 953357456653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357456654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the two statements in the context of urbanisation:

A) Due to urbanisation, only the rich began leaving their villages to look for jobs that were opening

up in cities in the colonial period

B) The poor and many from the low castes, saw this opportunity to get away from oppressive hold

that upper-caste land owners exercised over their lives and the daily humiliation they suffered.

Options:



1. Only statement 'A' is true.
2. Only statement 'B' is true.
3. Both statement 'A' and 'B' are false.

4. Both statement 'A' and 'B' are true.

Question Number : 46 Question Id : 953357456654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 953357456655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the column:

i. Idgah a. Street with a dead end.



ii. Dargah b. Sufi lodge.

iii. Cul-de-sac c. open prayer place.

iv. Khangah d. tomb of a saint.

Choose the correct option.
Options :

1.i- b, ii- d, iii- a, iv-C
2.i-d, ii- ¢, iii- a, iv-b

3.i- b, ii- ¢, iii- a, iv-d

4.i- ¢, ii- d, iii- a, iv-b

Question Number : 47 Question Id : 953357456655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1 I-b, 1i-d, ii1-a, 1v-c
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Question Number : 48 Question Id : 953357456656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements given below:
A. Indian textiles declined because of tough competition from European and American textiles.

B. Indian textiles declined due to the very high duties imposed when importing material into

Britain.

Choose the correct option.
Options :

1. Alis true, B is false.

2. Ais false, B is true.

3. Both A and B are true.

4. Both A and B are false.

Question Number : 48 Question Id : 953357456656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357456657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Paintings and images in the colonies were commissioned by British officials to:
A) understand the colony and its people.
B) remember their life in the colonies.

Choose the correct option.
Options :

1. Ais true, B is false.

2. Aisfalse, B is true.

3. Both A and B are true.

4. Both A and B are false.

Question Number : 49 Question Id : 953357456657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357456658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By giving the right to vote, the constitution of India establishes:
A) Social Democracy
B) Political Democracy

Choose the correct option.
Options :

1. Only A.

2. Only B.

3. Both A and B.

4. Neither A nor B.

Question Number : 50 Question Id : 953357456658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357456659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the Column:

i. Khonds a. Kulu

ii. Nishi b. Odisha

iii. Banjara c. Arunachal Pradesh

iv. Gaddis d. Maharashtra
Options:

1.i-d, ii- a, iii- b, iv-c

2.i- b, ii- ¢, iii- d, iv-a

3.i- ¢, ii-d, iii- a, iv-b

4. i- b, ii- d, iii- a, iv-c

Question Number : 51 Question Id : 953357456659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. 1-d, 1i-a, 1ii-b, v-c
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3 I-¢, 1i-d, iii-a, iv-b

4 1-b, 1i-d, 1ii-a, iv-c

Question Number : 52 Question Id : 953357456660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the 'river-front gardens' designed during the Mughal regime, the mausoleum was placed on a

terrace and the garden to its:
Options :

1. East

2. West

3. South

4. North

Question Number : 52 Question Id : 953357456660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357456661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct chronological order of successive Delhi rulers between 13th-15th centuries:
Options:

1. Sayyid-Tughlug-Turkish-Khalji

2. Khalji-Sayyid-Tughlug-Turkish

3. Tughlug-Turkish-Khalji-Sayyid

4. Turkish-Khalji-Tughlug-Sayyid

Question Number : 53 Question Id : 953357456661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 953357456662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements given below:

A. Temples in medieval period were built by rulers to demonstrate their devotion to various

deities.

B. Temples in the medieval period were the hub of cultural activities such as dance, music and

wrestling bouts.

Choose the correct option:
Options :

1. Only A.

2. Only B.

3. Both A and B are true.

4. Both A and B are false.

Question Number : 54 Question Id : 953357456662 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357456663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People who study objects made and used in the past are called:-
Options :

1. Palaeontologists

2. Museologists

3. Historians

4. Archaeologists

Question Number : 55 Question Id : 953357456663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357456664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ring wells found in the Mahajanapadas seem to have been used as .

A) washing clothes

B) irrigation

C) garbage dumbs

D) drainage

Choose the correct option.
Options :
1.Aand B
2.Band D
3.Cand D

4. Aand C

Question Number : 56 Question Id : 953357456664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 953357456665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Garbhagrihais___

Options :

1. the structure built on top of the temple.

2. a hall inside the temple where people could assemble.

3. an important small box placed at the centre of the temple.

4. the room where the image of the temple deity is placed.

Question Number : 57 Question Id : 953357456665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357456666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words were originally used to describe India in the Preamble to the

Constitution in 1949?
A) Democratic

B) Socialist

C) Republic

D) Sovereign

Choose the correct option.
Options :

1.A,Band D

2.A,Band C

3.Aand C

4.B,Cand D



Question Number : 58 Question Id : 953357456666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 953357456667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A Janpad Panchayat works at which level of the administration in India?
Options :

1. Village

2. Block

3. District

4, State

Question Number : 59 Question Id : 953357456667 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 60 Question Id : 953357456668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Council of States in India is known as

Options :

1. Parliament

2. Lok Sabha

3. Rajya Sabha
4. Vidhan Sabha

Question Number : 60 Question Id : 953357456668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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4 T ET

Question Number : 61 Question Id : 953357456669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When was the first General Election held in India?
Options :

1.1947-1948

2.1950-1951

3.1951-1952

4.1952-1953

Question Number : 61 Question Id : 953357456669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WA J T A7 079 7 52T

Options :

1. 1947 — 1948
2 1950 - 1951
3. 1951 - 1952

4 19521953



Question Number : 62 Question Id : 953357456670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is false in context of Indian justice system?

Options :

1. PILs (Public Interest Litigation) can be filed on behalf of those whose right have been violated.
2. If the accused has not been given a chance to defend, it would not be considered a fair trial.

3. Supreme court does not have the power to intervene in case of a dispute between the centre

and a state.

4. Right to water has been interpreted as a part of the fundamental right to life.

Question Number : 62 Question Id : 953357456670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 953357456671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which law came into effect in 2006 in India recognising the right to a violence free home for



women?

Options:

1. The Hindu Succession Act

2. Protection of Women from Domestic Violence
3. Prevention of Sexual Harassment Act

4. Punishment of Dowry Death Act.

Question Number : 63 Question Id : 953357456671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 64 Question Id : 953357456672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The fundamental right against exploitation in India prohibits the employment of children below

the age of in any factory, mine or other hazardous work.

Options :
1.10
2.14



3.16
4.18

Question Number : 64 Question Id : 953357456672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 10
> 14
3. 16
4. 18

Question Number : 65 Question Id : 953357456673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the name of Omprakash Valmiki's autobiography in which he narrates a story of caste

discrimination.
Options:

1. Achhut

2. Tiraskar

3. Pichhra

4. Joothan

Question Number : 65 Question Id : 953357456673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357456674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following statements is true?

Options :

1. Government is one part of the state.

2. Government and state are the same and can be used interchangeably as words.
3. State can be changed through elections.

4. Government is not responsible for enforcing laws.

Question Number : 66 Question Id : 953357456674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 67 Question Id : 953357456675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who is the final interpreter of the Constitution in India?
Options :

1. President

2. Judiciary

3. Executive

4. Parliament

Question Number : 67 Question Id : 953357456675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 68 Question Id : 953357456676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Federalism refers to

Options :

1. Unitary administration in the country.

2. all administrative powers to be in the hands of the central government.
3. More than one level of government in the country.

4. One level of government in the country

Question Number : 68 Question Id : 953357456676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357456677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following applies to the principle of secularism in India?
Options:

1. Strict separation between religion and the state.

2. State can intervene in religious affairs.

3. State can't intervene in 'personal laws' of the communities.

4, State can't prevent religious domination.

Question Number : 69 Question Id : 953357456677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357456678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Government policies adopted to prohibit manual scavenging, bans which of the following?
Options :

1. Construction of dry latrines.

2. Employment of people as safai karamcharies.

3. Construction of public toilets in rural areas.



4. Construction of waste management plants.

Question Number : 70 Question Id : 953357456678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357456679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Elementary level history textbooks are called 'Our Pasts' because the textbooks discuss:
A) how to study history through multiple sources.

B) How history can be learnt through specific events and dates.

C) How experience of people from different classes and groups have been varied.

Choose the correct option.
Options :

1.Aand B



2.Band C
3.Aand C

4. A, Band C

Question Number : 71 Question Id : 953357456679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1 ARB
2. B 3T C
3 AFRC

4 A BERC

Question Number : 72 Question Id : 953357456680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following primary sources would you refer to construct claims of the first animals to

be domesticated?
A) Manuscripts

B) Toy figurines



C) Cave paintings
D) Burials

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.A,Cand D

4.B,Cand D

Question Number : 72 Question Id : 953357456680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357456681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following Sangam poem:

"Swift prancing horses by sea in ships,

Bales of black pepper in carts,

Gems and Gold born in the Himalayas,

Sandalwood born in the western hills"

Which aspect of ancient Indian History can it present evidence for?
Options :

1. New questions and ideas

2. Early coastal trade in India

3. Silk route control by Kushanas

4. Village life during Buddhism

Question Number : 73 Question Id : 953357456681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357456682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate reason for including social sciences at the

elementary level?

Options :

1. It is a subject meant for weak students and not very important.
2. It is a subject to build patriotism in students.

3.Itis a subject to propagate government policies.

4. It is a subject that initiates interest in social and political issues.

Question Number : 74 Question Id : 953357456682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357456683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asks students to map the input and outputs available for the location of an industry near

their school. The teacher could assess students skillsof
A) Inquiry

B) Comparison

C) Analysis

Choose the correct option.
Options :

1.0nly C

2.Band C

3.Aand C

4. A, BandC

Question Number : 75 Question Id : 953357456683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 FEAC
2. B3 C
3 ASRC

4 A BERC

Question Number : 76 Question Id : 953357456684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which pedagogical strategy would be most appropriate to sensitize students and build empathy

towards a domestic help?

Options :

1. Share a real case vignette of a domestic help in the classroom.

2. Screen and discuss a documentary on the work of domestic helps.
3. Invite a domestic help to the whole class.

4. Ask students to get to know someone who works as a domestic help and write a story based on

their experiences.

Question Number : 76 Question Id : 953357456684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357456685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While engaging with the theme 'Valuing Housework', a teacher should focus on depicting

housework.

A) as task which is to be done by women only.

B) as an easy task which requires less time to complete.
C) as an important work which is to be valued.

D) as a work which can be done by both women and men.

Choose the correct option.
Options :
1.Aand B
2.Aand C
3.Band D

4. Cand D

Question Number : 77 Question Id : 953357456685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1 ARB

, AJRC
3 B3RD

4 CHRD

Question Number : 78 Question Id : 953357456686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a geography class, the textbook is best used for:
Options :

1. Receiving a fixed body of knowledge.

2. Source for evaluating within fixed time tables.

3. Contemplation and wondering.

4. As the only source of information to avoid stress in children.

Question Number : 78 Question Id : 953357456686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357456687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In conducting the activity to talk to some elderly in the neighbourhood and collect information

about land use, the students would be acquiring skills of:
A) Questioning and recording

B) Listening and inquiring

C) Inferring and negotiating

D) Hypothesizing and analysing

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.A,CandD



4.B,Cand D

Question Number : 79 Question Id : 953357456687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357456688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While explaining the theme 'Bhakti and Sufi movements', the teacher should focus on:
A) depicting these movements as challenging the practice of social differences existing then.

B) the significance of songs, poems and dance as expression of devotion.



Choose the correct option.
Options:

1.Only A

2.0nly B

3.BothAand B

4. Neither A nor B

Question Number : 80 Question Id : 953357456688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357456689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be the objective for giving a project work on 'Visit to a factory'?

A) Acquiring skills of reasoning.



B) Learning skills of inquiry.
C) Developing skills of inquiry.
D) Learning skills of Hypothesizing.

Choose the correct option.
Options :
1.Aand B
2.Aand D
3.Band C
4.CandD

Question Number : 81 Question Id : 953357456689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357456690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Conflicting issues related to caste and gender in a social science classroom should be_____
Options :

1. completely avoided and not taken up.

2. kept open-ended and discussed from different dimensions.

3. discussed as per teacher's understanding and belief system.

4. discussed as per students' sentiments.

Question Number : 82 Question Id : 953357456690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357456691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The change in nomenclature from civics to political science has been done with the objective:



A) to develop obedient citizens.
B) to develop deliberative citizens.

Choose the correct option.
Options :

1.0nly A

2.0nly B

3.BothAandB

4. Neither Anor B

Question Number : 83 Question Id : 953357456691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357456692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The recommendation of 'gendering' the social science curriculum is reflected in the textbooks in

the form of:
A) increased references to women and their issues.
B) including the perspective of women to both historical and contemporary concerns.

Choose the correct option.
Options :

1.0nly A

2.0nly B

3.BothAand B

4. Neither A nor B

Question Number : 84 Question Id : 953357456692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357456693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Historical films and contemporary documentaries should be used:
A) as a time filler only for entertainment.

B) as a substitute for text.

C) for interpretation and analysis.

D) for provoking interest and discussion.

Choose the correct option.
Options:
1.Aand C
2.Band D
3.CandD

4. Aand D

Question Number : 85 Question Id : 953357456693 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357456694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The focus of Social Science curriculum should be on:
A) including all the facts, concepts and information.
B) including relevant concepts to enable analysis of socio-political realities.

Choose the correct option.
Options:

1.Only A

2.0nly B

3. Both Aand B

4. Neither A nor B

Question Number : 86 Question Id : 953357456694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 87 Question Id : 953357456695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about Social Science texts and materials used in the

classroom?

(A) The prescribed textbooks are the only source to be used, as the syllabus is finite.

(B) The prescribed textbooks are one of the sources as we need to incorporate infinite contexts.
(C)The provision of supplementary material is an unnecessary burden for teachers.

Choose the correct option.
Options :

1.Aand C

2.0nly C

3.Band C

4.0nly B

Question Number : 87 Question Id : 953357456695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357456696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following techniques and skills should be emphasised to assess students' critical

understanding of advertisement?

A) Analysis and reporting of existing advertisements in terms of values promoted.

B) Developing advertisements for a specific cause or product.

C) Awareness and presentation of how advertisements influence our thoughts and lives.
D) Comparison of better products based on advertisements.

Choose the correct option.

Options :



1.A,Band C
2.A,Band D
3.A,CandD

4.B,Cand D

Question Number : 88 Question Id : 953357456696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357456697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While discussing the theme 'Maps' a teacher should focus on the concepts of:

A) Distance and scaling



B) Sketch and exact measurement
C) Direction and location
D) Symbols and colours

Choose the correct option.
Options:

1.A,Band C

2.A,Band D

3.A,Cand D

4.B,Cand D

Question Number : 89 Question Id : 953357456697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357456698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To develop students' skills of inquiry and historical understanding of various craft centres, they

can be given tasks to:

A) locate these centres on a map, and identify their contemporary location.

B) find out and compare the past and present conditions of these centres in the form of a report.
C) invite local craftsperson to put up an exhibition of various crafts products at the school.

Choose the correct option.
Options :
1.Aand B
2.Aand C
3.Band C

4. A, BandC

Question Number : 90 Question Id : 953357456698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 95335714414
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 95335726202
Question Shuffling Allowed : Yes

Question Id : 953357456699 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions that follow by selecting the correct
most appropriate options.

Cases of fight abroad caused by poltical persecution apart, people emigrate mostly for economic
betterment. Even many asylum seckers who wash up on westem shores are in fact economic migrans.
Pundits predict that with the advance towards a globalised economy, this sort of migration will become
unnecessary. Yet, of this planet’s sox billion peaple, more than four billion still ive tn less than one
hundred rupees a day, of which more than one billion ltve on less than seventy-five rupees a day. The
tewards of globalisation have spread unevenly. And where they have spread, they have whetted the
appetite for a better lfe so much that salaries from jobs n the Bengaluru back offices or call centres of
mternational companies may not be able to meet. Most tlegal Indian immigrants seem to be from
Punjab, one of the most prosperous states i the country.

[llegal immigration cannot be stopped. It can only be checked. For this, without doubt, border confrol
regimes In the developed world that seek to keep out foreigners have to first loosen p. In any case,
these laws g0 against the right to work, the right to free choice of employment and protection against
unemployment enshrined in Article 23 of unversal Declaration of Human Rights. More than this, the
realisation that they could be stranded without an adequate work force n the years to come has already
spurred an awareness 1 many host countries that ther immigration laws need to be relaxed. Here, Inda
could learn a lesson from S Lanka which plays an active faciltating role in economic emigration. It
assesses demand for labour abroad, provides basic training, even language skills to potential emigrants
and runs a large-scale awareness campaign about the risks of illegal immigration abroad.

Sub questions

Question Number : 91 Question Id : 953357456700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People do not migrate to other countries because of:
1. political harassment.

2. social injustice.

3. poverty at home.

4. better job opportunities there.

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 953357456701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is believed that when economy becomes globalised:

1. people will start earning around one hundred fifty rupees
a day.

2. political per I rill

2. political persecution will stop.

3. nobody will wash the western shores.

4. poor people will stop going to the rich countries.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357456702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a result of globalisation

1. all countries have become rich.

2. all countries have remained poor.

3. people have stopped seeking political asylum.
4. people are demanding higher salaries.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357456703 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Illegal immigration can be stopped:
1. through strict border control.

2. by giving jobs to the poor.

3. by ‘loosening up’ the foreigners.

. by relaxing the immigration laws.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357456704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

A. Workers in Bengaluru are asking for higher salaries.

B. Very soon western countries will be left without a trained
work force.

1. A is right and B is wrong.

2. A is wrong and B is right.

3. Both A and B are right.

4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357456705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Yet, of this planets’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357456706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“The sending country also’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 953357456707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They have whetted the appetite’
The word "whetted’ means:

1. moistened

2. increased

3. flowed

4. reduced

Options :



1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357456708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“an active facilitating role’
The word ‘facilitating” means:
1. helpful

2. important

3. regular

4. irritating

Options :
1.1
2.2
3.3
4.4

Question Id : 953357456699 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions that follow by selecting the correct
most appropriate options.

Cases of fight abroad caused by poltical persecution apart, people emigrate mostly for economic
betterment. Even many asylum seckers who wash up on westem shores are in fact economic migrans.
Pundits predict that with the advance towards a globalised economy, this sort of migration will become
unnecessary. Yet, of this planet’s sox billion peaple, more than four billion still ive tn less than one
hundred rupees a day, of which more than one billion ltve on less than seventy-five rupees a day. The
tewards of globalisation have spread unevenly. And where they have spread, they have whetted the
appetite for a better lfe so much that salaries from jobs n the Bengaluru back offices or call centres of
mternational companies may not be able to meet. Most tlegal Indian immigrants seem to be from
Punjab, one of the most prosperous states i the country.

[llegal immigration cannot be stopped. It can only be checked. For this, without doubt, border confrol
regimes In the developed world that seek to keep out foreigners have to first loosen p. In any case,
these laws g0 against the right to work, the right to free choice of employment and protection against
unemployment enshrined in Article 23 of unversal Declaration of Human Rights. More than this, the
realisation that they could be stranded without an adequate work force n the years to come has already
spurred an awareness 1 many host countries that ther immigration laws need to be relaxed. Here, Inda
could learn a lesson from S Lanka which plays an active faciltating role in economic emigration. It
assesses demand for labour abroad, provides basic training, even language skills to potential emigrants
and runs a large-scale awareness campaign about the risks of illegal immigration abroad.

Sub questions

Question Number : 91 Question Id : 953357456700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People do not migrate to other countries because of:
1. political harassment.

2. social injustice.

3. poverty at home.

4. better job opportunities there.

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 953357456701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is believed that when economy becomes globalised:

1. people will start earning around one hundred fifty rupees
a day.

2. political per I rill

2. political persecution will stop.

3. nobody will wash the western shores.

4. poor people will stop going to the rich countries.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357456702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a result of globalisation

1. all countries have become rich.

2. all countries have remained poor.

3. people have stopped seeking political asylum.
4. people are demanding higher salaries.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357456703 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Illegal immigration can be stopped:
1. through strict border control.

2. by giving jobs to the poor.

3. by ‘loosening up’ the foreigners.

. by relaxing the immigration laws.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357456704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

A. Workers in Bengaluru are asking for higher salaries.

B. Very soon western countries will be left without a trained
work force.

1. A is right and B is wrong.

2. A is wrong and B is right.

3. Both A and B are right.

4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357456705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Yet, of this planets’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357456706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“The sending country also’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 953357456707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They have whetted the appetite’
The word "whetted’ means:

1. moistened

2. increased

3. flowed

4. reduced

Options :



1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357456708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“an active facilitating role’
The word ‘facilitating” means:
1. helpful

2. important

3. regular

4. irritating

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 95335726203

Question Shuffling Allowed : Yes

Question Id : 953357456709 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the excerpt given below and answer the questions that
follow by selecting the correct/most appropriate options:

Did ve not hear it? No; it was but the wind,

or the car rattling over the stony street;

On with the dance! Let joy be unconfined;

No sleep till morn, when youth and pleasure meet
To chase the glowing hours with flying feet
But hark!  that heavy sound breaks in once more,
As if the clouds its echo would repeat:

And nearer, clearer. deadlier, than betore!

Arm! Arm! Itis_itis __ the cannon’s opening roar!

Sub questions

Question Number : 100 Question Id : 953357456710 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator heard the sound of:
1. wind.

2. acar

3. firing of a cannon

. thunder of the clouds.

N

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 953357456711 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What were the young men doing?
1. Dancing

2. Singing

3. Flying

4. Fighting

Options :

1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 953357456712 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two contrasting images pictured in these lines are:
1. dance and song

2. dance and war

3. arm and cannon

. youth and pleasure

I

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357456713 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would the clouds echo?
1. rattling of the car

2. roar of the gun

3. noise of the wind

. limitless joy of the youth

N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357456714 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘the car rattling over the stony street’

Which figure of speech has been used in the above line?
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance
Options:
1.1
2.2
3.3

4.4

Question Number : 105 Question Id : 953357456715 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“And nearer, clearer, deadlier than before’
Name the figure of speech used in this line.
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance

Options :
1.1
2.2
3.3
4.4

Question Id : 953357456709 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the excerpt given below and answer the questions that
follow by selecting the correct/most appropriate options:

Did ve not hear it? No; it was but the wind,

or the car rattling over the stony street;

On with the dance! Let joy be unconfined;

No sleep till morn, when youth and pleasure meet
To chase the glowing hours with flying feet
But hark!  that heavy sound breaks in once more,
As if the clouds its echo would repeat:

And nearer, clearer. deadlier, than betore!

Arm! Arm! Itis_itis __ the cannon’s opening roar!

Sub questions

Question Number : 100 Question Id : 953357456710 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator heard the sound of:
1. wind.

2. acar

3. firing of a cannon

. thunder of the clouds.

N

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 953357456711 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What were the young men doing?
1. Dancing

2. Singing

3. Flying

4. Fighting

Options :

1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 953357456712 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two contrasting images pictured in these lines are:
1. dance and song

2. dance and war

3. arm and cannon

. youth and pleasure

I

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357456713 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would the clouds echo?
1. rattling of the car

2. roar of the gun

3. noise of the wind

. limitless joy of the youth

N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357456714 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘the car rattling over the stony street’

Which figure of speech has been used in the above line?
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance
Options:
1.1
2.2
3.3

4.4

Question Number : 105 Question Id : 953357456715 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘And nearer, clearer, deadlier than before’
Name the figure of speech used in this line.
. Onomatopoeia

. Metaphor

. Personification

4. Assonance

—_

I3

L]

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 95335726204

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357456716 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Connotative meaning of a word is
1. Symbolic

Factual meaning

Semantic meaning

Literal meaning

w1

i

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357456716 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Connotative meaning of a word is
1. Symbolic
2. Factual meaning
3. Semantic meaning
4. Literal meaning

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357456717 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method of teaching believes in *learning form through message-focus’?
1. Task based teaching
2. Structural approach
3. Dogma approach
4. Direct method

Options:

1.1



2.2
3.3

4.4

Question Number : 107 Question Id : 953357456717 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method of teaching believes in ‘learning form through message-focus™?
1. Task based teaching
2. Structural approach
3. Dogma approach
4. Direct method

Options:
1.1
2.2
3.3

4.4

Question Number : 108 Question Id : 953357456718 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rohit Irfan, who is a Hindi native speaker, is from Lucknow and has now moved to Bangalore for his studies. In his
college he has opted for the study of Spanish and he has been able to use the language of the place, Kannada very well
for different purposes. Which language is he learning and which language is he acquiring?

1. Rohit Irfan learning Spanish and acquiring Kannada.

2. He is acquiring Spanish and learning Kannada,

3. Hels learning both the languages

4. He is acquiring both the languages.

Options :
1.1
2.2
3.3

4.4



Question Number : 108 Question Id : 953357456718 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rohit Irfan, who is a Hindi native speaker, is from Lucknow and has now moved to Bangalore for his studies. In his
college he has opted for the study of Spanish and he has been able to use the language of the place, Kannada very well
for different purposes. Which language is he learning and which language is he acquiring?

1. Rohit Irfan learning Spanish and acquiring Kannada.

2. He is acquiring Spanish and learning Kannada.

3. Hels learning both the languages

4. He is acquiring both the languages.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357456719 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher found a hotel menu and brought to her classroom. Having divided the class into groups of five, she asked her
students to order food to eat for an amount of Rs. 1400 for five people keeping an amount of Rs.70 for a three wheeler
to go back home. Two of them are vegetarians and one is allergic to mushrooms. Learners in groups have to interact and
order the food ifem to eat on the above condition. What is this piece of work in language teaching-learning known as?
[ Atask
2. Aproject
3. Language processing
4. Ordering a men
Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 953357456719 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Atteacher found a hotel menu and brought to her classroom. Having divided the class info groups of five, she asked her
students to order food to eat for an amount of Rs. 1400 for five people keeping an amount of Rs.70 for a three wheeler
fo go back home. Two of them are vegetarians and one is allergic to mushrooms. Learners in groups have to interact and
order the food item to eat on the above condition. What is this piece of work in language teaching-learning known as?

L. Atask

2. Aproject

3. Language processing

4. Ordering a men

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357456720 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true and which of them are not true?
a. A language without script is dialect.
b. A language may have many dialects.
c. Some languages do not have grammar.
d. Sign language does not have a grammar.

‘b’ is true and *a’, ‘¢’ and *d” are not true.

‘b’ and “d’ are not true and ‘¢’ and ‘a’ re true.
‘a’, ‘c’and ‘d’ are true and ‘b’ is not true.
‘c’and ‘a’ are true and ‘a’ and ‘d’ are not true.

L

>

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357456720 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true and which of them are not true?
a. A language without script is dialect.
b. A language may have many dialects.
c. Some languages do not have grammar.
d. Sign language does not have a grammar.

‘b’ is true and *a’, ‘c” and *d’ are not true.

‘b’ and “d’ are not true and ‘¢’ and ‘a’ re true.
‘a’, ‘c’and ‘d’ are true and ‘b’ is not true.
‘c’and ‘a’ are true and ‘a’ and “d’ are not true.

L R

-

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357456721 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a post reading activity?
1. The talk about the author by the teacher
2. Asking questions to relate the text with learners life experiences
3. Silent reading in groups of four
4. Creating a subtext from the given jumbled sentences

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357456721 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a post reading activity?
1. The talk about the author by the teacher
2. Asking questions to relate the text with learners life experiences
3. Silent reading in groups of four
4. Creating a subtext from the given jumbled sentences

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357456722 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we read a text or a story we use our knowledge of the structure of the language to predict what would come next.
What is this known as?

[ Semantic
2. Structural cues
3. Syntactic cues
4. Thematic cues.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357456722 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we read a text or a story we use our knowledge of the structure of the language to predict what would come next.
What is this known as?

[ Semantic
2. Structural cues
3. Syntactic cues
4. Thematic cues.

Options:



1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357456723 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Having grouped her learners info groups of five, a teacher read out a text to them and then asks them to jot down words

Tl

and fragments of sentences to recreate the text, not necessarily the exact text. What is this strategy known as?
[. Mutual dictation
2. Composition dictation
3. Grammar dictation
4. Plain dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357456723 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Having grouped her learners info groups of five, a teacher read out a text to them and then asks them to jot down words
and fragments of sentences to recreate the text, not necessarily the exact text. What is this strategy known as?

[. Mutual dictation

2. Composition dictation

3. Grammar dictation

4. Plain dictation

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 953357456724 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true of teaching of poetry in language classroom?
a. Poetry teaching-learning helps in learning of grammar.
b. Poetry teaching-learning helps in learning of poetical devices.
c. Poetry teaching-learning is for enjoyment and delight.
d. Poetry teaching is for learning of pronunciation and speech

‘a’and ‘d’ are true
‘b’ and ‘¢’ are frue
*d’ is true

d’ and ‘b’ are true.

i o

Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 953357456724 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true of teaching of poetry in language classroom?
a. Poetry teaching-learning helps in learning of grammar.
b. Poetry teaching-learning helps in learning of poetical devices.
¢. Poetry teaching-learning is for enjoyment and delight.
d. Poetry teaching is for learning of pronunciation and speech

‘a’and ‘d’ are true
‘b’ and ‘¢’ are true
. *d’ is true

4. *d’and ‘b’ are true.

Lt b —

Options :
1.1
2.2
3.3

4.4



Question Number : 115 Question Id : 953357456725 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is portfolio assessment?

. Collection of instances of learning by the teacher and using it for assessment of learning.

. Recording of the formative and summative assessment activities together and using them for assessment.
. Assessment activities other than summative assessment.

4. Assessment activities other than formative assessment.

fad b —

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357456725 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is portfolio assessment?

. Collection of instances of learning by the teacher and using it for assessment of learning.

. Recording of the formative and summative assessment activities together and using them for assessment.
. Assessment activities other than summative assessment.

4. Assessment activities other than formative assessment.

fad b3 =

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357456726 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What does BICS stand for?
1. Basic interpersonal communicative skills
2. Basic internal communicational strategy
3. Basic interpersonal communicational skills
4. Basic internal communication skills

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357456726 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does BICS stand for?

1. Basic interpersonal communicative skills
Basic internal communicational strategy
Basic interpersonal communicational skills
Basic internal communication skills

ol b

=

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357456727 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘comprehensible input’ means in language learning?
1. Engagement with language which is comprehensible to all learners.
2. Engagement with written and formal language below the level current level of master of the learner.
3. Exposure to high level of written and spoken language above the learner’s current level of mastery.
4. Exposure to meaningful oral and written language somewhat above the learners’ current level of mastery.

Options :

1.1



2.2
3.3
4.4

Question Number : 117 Question Id : 953357456727 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘comprehensible input” means in language learning?
1. Engagement with language which is comprehensible to all learners.
2. Engagement with written and formal language below the level current level of master of the learner.
3. Exposure to high level of written and spoken language above the learner’s current level of mastery.
4. Exposure to meaningful oral and written language somewhat above the learners’ current level of mastery.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357456728 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not considered as materials for language teaching-learning?
1. Textbook and supplementary readers
2. Computer Programming
3. Newspapers

Audio recorded stories

>

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357456728 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not considered as materials for language teaching-learning?
1. Textbook and supplementary readers

Computer Programming

Newspapers

Audio recorded stories

L

>

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357456729 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multilingualism in school education in India refers to
1. Recognising the multilingual characteristics of the country and using it as a resource in teaching-learning of
languages and content subjects.
2. Learning as many languages as possible by all learners in order to cope with the developments.
3. Learning of English by all and studying in English medium
4. Learning of three languages moving from mother tongue to Hindi and English.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357456729 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Multilingualism in school education in India refers to
1. Recognising the multilingual characteristics of the country and using it as a resource in teaching-learning of
languages and content subjects.
2. Learning as many languages as possible by all learners in order to cope with the developments.
3. Learning of English by all and studying in English medium
4. Learning of three languages moving from mother tongue to Hindi and English.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357456730 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?

1. SignILanguage is an artificial language.

2. Sign Language has grammar and a natural language.

3. Sign Language is not natural language like other human languages.
Sign Language has not been recognised in school education.

B

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357456730 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?
1. Sign Language is an artificial language.
2. Sign Language has grammar and a natural language.
3. Sign Language is not natural language like other human languages.
4. Sign Language has not been recognised in school education.

Options :



1.1
2.2

3.3
4.4
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Sub questions

Question Number : 121 Question Id : 953357456732 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357456733 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357456734 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357456735 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357456736 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357456737 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4
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Options :
1.1
2.2
3.3
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4. TfSTET HETEIT o1 He SS9 T

Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357456745 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T SFE° T T 5168 & 9T -

1. fommor - faere
2. fawrer - fasmo
3. 38T% — TS

4. T — farsmor
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357456746 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T O ATl U o, T 60 S8 § SUg a9 ©

. 90 91
2. A AT
3. Ty A

Options:

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 953357456747 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR ST 37K TETRSaT 3 WA F T T E -
|. ST

3. T 37T T hT AFAT 9H

4. Tafasedrett i gz==

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335726207

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357456748 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TG T 3 T 1 TS T 1 T, T ) e, T R AT S 7 T
|, STt 1 Fhaere

2, ¥ faaam

3. HET W A e

4, T HIT 1 AT

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 953357456748 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e TN e T ST Tt 1 T, S0 7 7 o T TR T S99 491 T
| TR e

2, T fataerr

3. HET W A e

4, TR AT T S

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 953357456749 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ERLEE IR AT 1P [ SE— T T 8
|. HIgATHS
2. e
3. 93TeHE
4. FEFITTTE
Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 953357456749 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



EEEHEEC RIRE 15 J— =T BT 2

3

4. dfrarensh
Options :

1.1

2.2
3.3
4.4

Question Number : 138 Question Id : 953357456750 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o W 6§ a1
, tjnétg FT T I

3

Options :

[

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357456750 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HIETIT G T IaTER T £ -
| et % T e1rees um fofaw
T % W ! T SR
3. tj:%t; T T IS0

4. WTETeRe =RT B S 26l T feran

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357456751 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T2t o e i gf @ i W g T S E

|. 5T Sk I THheTe & FT =Y 22

TG T WTTHA! T TUSRT 74T 3T ST 22

3. Y2 F g F97 7 S 2

4. Tordt T =2 T JUN SHITSTT T TF T FHHI R =

Options :

[

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357456751 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TEet ot ST Al ST & i A T FeH T B -

|. BT &5 H THe™ @ 1 AT 27

2. G T HITHA! 1 TURT T e S0 22

3. Y2 § Ig F7 7 A 2

4. Toreft U =127 =T U SITST S TF T T =S B

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357456752 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S 3 T SR, TR a1 3 T 1 T T 2 AT T I e T
TR

| S 1 T
), STaTae! 31 e
3, e % A

4, HEH B S
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 953357456752 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



S 3 T SR, TR a1 3 T 1 T T 2 AT T I e T
FREWE

| ST 3

), YT &1 T

3, e & A

4, TR S

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357456753 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
| THHER | FHE e

o T Y
2. %A — Fosd| "=l

3. 7. W aRETEE e
4. U= F AT o ST S

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357456753 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



| THER | T G

2. B — TS o=l

3. 1.t ot urrETEE T

4. USIE F AT & STa=id ]

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357456754 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IS AT F T 3 SHUR F T T A F 0 F T A T 2
| 7 o Tt et

), T YA W

4, ST 7 faest wmrert

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357456754 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SIS AT 3 T 5 S F T ] FH FA F (0 F T S
| 7 o Tt et

), T YA W

4, ST 7 faest wmrert

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357456755 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FeraITeraT = T &1 %91 = H198 2| T o5 % &9 7 31 e, FFTH|
1. el

2. {HTEIH

3. AT

4. AR
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357456755 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



eIt = T 21 %91 5§19 2| U e % B9 7 7 G, FETH|
1. =hedl

2. °1=9H

3, AT

4, ATHRAT

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357456756 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FT TS T F=I1 % U — SIS T [Sohiad i T TTehE IaTew 2-
|. STT=RE UG T AT T T

3. STT=VE T IR Al TR FHAl

4. FTT=IT A HiST ITea] i T@Thd FAT

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357456756 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TS =] 3 TS — TS Tl TS e T 1 FHFE IETE -
Lﬂfﬁﬁmﬁﬂﬁm‘mégﬂﬁwa

2. AT=E TG T T

3. STT=0R H HIAT I Hl TR FAT

4. STT=IE A HiS Ieal i T@Tha FAT

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357456757 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
STEROT — T3Teqor T e fafer T & 2T 2

1. U139 — T&dh

[

3

4. T
Options :
1.1

2.2
3.3
4.4

Question Number : 145 Question Id : 953357456757 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST — ToTequr ST ST TSer T T AT 2|
1. U189 — T+ h
Gt g

&

3

4. T9
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357456758 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WTST TRE — @ i wieram = e1ha=T o z|
. Shfaar

Question Number : 146 Question Id : 953357456758 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTST TG — TRaT Sl TTSRaT T A= o 2
|. Shfaar

2. FEAT

ST

4. ITFAT

L]

Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 953357456759 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

THT SHISTEAT o5 TIoRT o1 T2 & ShiF-ST TTITaI e Wi 1re S99 27
1. TFEat O {7 AT

4. gerg T

Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 953357456759 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TST SHITEAT 3 (3T T ST | HIH-FT AT HaITI% SUFH 27
B T%marmww

N ST

Options :
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 953357456760 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

mw|aa’:r¢-1cmm-|ﬂ?w|t;ﬂaﬁ|¢ﬁ FEaFE T aaIF e F £ -

| T T v e
. ST =T IS foREAT

[

3. fasoe, gieeT &=
4. g forg
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357456760 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T Al GeTeTa fefae STeafth & fasme 3 Faffers e 2 -
| SHETT o7 3iTeeR fermT

2. THiaar T 3 o

3. fasm=, g &=

4.@%‘@?

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357456761 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e T IR T T T 8
. i wTeat 1 T

RSiERIGR R L)

3. 3 _ =HeT
4. 9T T T AE TG

Options :

[

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357456761 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e S T I Tt Tee
. e wTeat = A4

2. orE i & g

3, 37— =HeT

4. 9T T T A TG

Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 953357456762 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T HTT 5] T T T T AN T ﬁ*sq¢.' IER] %IEW%%%mﬁmwﬁﬁ?
|, O T O T T A |

), o AT ¥ o

3, o 1 e H e |

4, TR, T | T H A T W FA

Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 953357456762 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T 7 T S TR T TS A T T Fovl 2] W e v S A R
|, 1 T 9T 0 I T |

), e AT ¥ forge

3, o A §

4 T, T | T AN - T WO I

Options :

1.1
2.2
3.3

4.4



